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image7.png
Solve 5z +z — 3z > —12

The solution is[ |
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Each morning, the employees in an office drink at least 73 cups of coffee. Write an inequality that represents this situation. Let ¢
represent the number of cups of coffee.

An inequality is |
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You work at a clothing store. Your goalis to sell at least $800 of merchandise before the end of your shift. You have already sold $650 of
merchandise. Select an inequality that represents the amount a (in dollars) of merchandise that you still need to sell to meet your goal
Then graph the solution

© 650+a < 800

© a+650 > 800

© a-+800 > 650

© 800 +a < 650
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‘Your school district cancels school when more than 2.5 inches of snow accumulate on the ground each hour. Snow is currently
accumlating at a rate of 4 inches per hour. Select an inequality that represents the exira snow accumulation s (in inches per hour)
needed to cancel school. Then solve the inequality.
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Anumber ¢ minus 6 is less than or equal to 5.3. Wirite this word sentence as an inequality.

An inequality is[ |
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Select each solution of y +4 < —2
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Grapht > —3
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Solve £ — 8 > —4_ Graph the solution

The solution is[ |
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Solve 9 >z + 15 Graph the solution

The solution is[ |
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Graph z <




